1B LAIFEHSER220kPal A2, —FMEFZDIGFENDERT

XAICIED AR (EBICITEEEREL10%EB A 555 XBHE)
%Eﬂfﬁ mRE1EIZ&KSFEN : -0.5kPa B BEB)E—1.0kPa
FHTRIEH1C

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=0COFE

LTRDES (KERIEZEAEER) X1FE=#91 5kPaCEHE L1184
1A LA ERE=220kPa+ ( HIEEED K ;E-4.7/F) X 1.5kPa
A B C D E F G H I P

B8 | AFY [momE |aaEy| ok [ tass sezx| 1B |sEze| ank| =5F | #BH%
1A 4.1 0 0.20% -1.8 4.7 0 0 0 220.0 0
2R 46 0 0.20% -20 3.7 (1.0 15 -15 -0.5 216.2 -1.7
3R 8.5 0 0.20% -3.7 6.8 3.1 1.5 47 -0.5 2184 -0.7
47 14.1 0 0.20% -6.3 12.4 5.6 15 84 -0.5 222.5 1.2
5H 18.6 0 0.20% -8.3 175 5.1 15 1.7 -0.5 223.4 1.6
6H 22.5 0 0.20% -99 21.6 41 15 6.2 -0.5 220.8 0.3
7H 26.1 0 0.20% -11.2 249 3.3 15 5.0 -0.5 2153 -2.1
8H 274 0 0.20% -11.4 275 2.6 1.5 3.9 -0.5 2074 -5.7
9H 23.8 0 0.20% -9.2 25.7 (1.8) 1.5 -2.7 -0.5 1929 -12.3
10A 17.6 0 0.20% -6.1 19.7 (6.0) 15 -90 -0.5 174.2| -20.8
118 11.8 0 0.20% -3.7 13.9 (5.8) 1.5 -8.7 -0.5 158.9] -27.8
128 6.4 0 0.20% -1.9 7.8 (6.1) 15 -9.2 -0.5 145.5] -33.9
18 41 0 0.20% 0.0 47 (3.1) 15 -4.7 -0.5 138.4| —-37.1
&F 15.5 -75.6] -34.3% 0 -6.0 -81.6

REEFTEARARN (C)=(SEADFEHTEA-FRNOEEB) X0. 2% X EXE(P)
ZEREP)=RIOAZERE (P)-ATA D BEARN (C)-(REDFEH+RIRTNID
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E2HT I7-RFSqv—EU0EER)

MEBRRADBE=RAIL L vILILOER (EH x KiK) /4B E=-—F

17 ADBRREN-KIE1°CTO. 2% THHELESE

BRRNEOERE=-0CODIHE

I7—F5A47—EREFRLE-ZER) X1E=$91 1kPaTHELBE

1A LA DFRAEEE K E=-220kPa+ ( RIREFD SFUER-4.7E) X 1.1kPa

A B C D E F G H I P

AR | AT | moBE |aAGY oA |LtASE SEx| 1E |SRRE ABRE| Z5F [ #E%
1R 4.1 0 0.20% -1.8 4.7 0 0 0 220.0 0
28 4.6 0 0.20% -2.0 3.7 (1.0) 1.1 -11 -0.5 216.6] -1.5
3A 85 0 0.20% -3.7 6.8 3.1 1.1 34 -0.5 217.5] -141
4R 14.1 0 0.20% —6.2 124 5.6 1.1 6.2 -0.5 219.5] -0.2
5H 18.6 0 0.20% -8.1 17.5 5.1 1.1 5.6 -0.5 218.4( -0.7
64 225 0 0.20% -9.6 21.6 41 1.1 45 -0.5 2143 -2.6
7R 26.1 0 0.20%| -10.8 249 3.3 1.1 3.6 -0.5 207.8| -5.6
8H 274 0 0.20% -10.9 27.5 2.6 1.1 2.9 -0.5 1993 -94
9A 23.8 0 0.20% -8.8 25.7 (1.8) 1.1 -20 -0.5 185.9] -15.5
108 17.6 0 0.20% —6.0 19.7 (6.0) 1.1 —6.6 -0.5 169.9] -22.8
1A 11.8 0 0.20% =3.7 13.9 (5.8) 1.1 -6.4 -0.5 157.1| -28.6
124 6.4 0 0.20% -1.9 7.8 (6.1) 1.1 -6.7 -0.5 146.2| -33.6
1H 4.1 0 0.20% 0.0 4.7 (3.1) 1.1 -34 -0.5 140.4| -36.2
F 15.5 -73.6] —33.5% 0f 60/ -796
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1A LA FHRERF220kPal S, —FRERBDIGEDESRT

EEZEREX10%ZEZ D5 EH/HE)

SH™h

XAICTED /R (RRRIZEF

mRIEIZXDFEN : -0.5kPa

B BEE=-1.0kPa

17ADBERBN=-5E1°CTO. 20%TEtEL-EE

BARRNEOEE=5COEE

EBDZER (KAXRESAEER)

1A EAIDHAEERE=220kPa+ ( SRR DO RS

M1E=#41 5kPaTHEL-ES

-4.7F) X 1.5kPa

A B C D E F G H I P
AB | BEY |[ROEE |BARY| BAR | LAKE| [EE| 1B |[REFE| ARF| Z5E | EBH%
18 5 0.20% 47 0 0 0 2200 O
2R 5 0.20% 3.7 (1.0) 15 -15 -0.5 218.0| -09
3R 85 5 0.20% 6.8 3.1 15 47 -05 2222 10
47 14.1 5 0.20% -4.2 12.4 5.6 15 8.4 -05 2285 3.9
58 18.6 5 0.20% -6.3 17.5 5.1 15 7.7 -05 2315 5.2
68 225 5 0.20% -8.1 21.6 4.1 15 6.2 -05 230.8| 4.9
78 26.1 5 0.20% -9.6 249 3.3 15 5.0 -05 2272 33
8A 274 5 0.20% -9.9 275 2.6 15 39 -0.5 2210/ 05
98 238 5 0.20% -7.8 25.7 (1.8) 15 -2.7 -05 207.9| -55
108 17.6 5 0.20% -438 19.7 (6.0) 15 -9.0 -05 1906 -134
18 11.8 5 0.20% -2.4 13.9 (5.8) 15 -8.7 -05 176.6| -19.7
128 6.4 5 0.20% -05 7.8 (6.1) 15 -9.2 -0.5 1645 -25.2
18 41 5 0.20% 0.0 47 (3.1) 15 -4.7 -05 1589 -27.8
= 15.5 -55.1| -25.0% 0 -6.0 -61.1
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SH™h

17BOBEARRBN=821°CTO. 2% THEL-EE

BARNEOEE=5COIGE
I7—FSA7— R ERELEER)

I7 kA4 —(FZLVEER)

XKERSR

M1E=#1 1kPaTHEL-ES

EDBE=RAIL T ILILDER (EN X KT /HExTRE=-—F

1B LAIDRAEER[E=220kPa+ ( AEFFDSIE-4.7E) X 1.1kPa
A B C D E F G I P

AB | BEY | ROEE |BAZRHY| BAR | LAKE [REE| 1E |(REEZZE| AR ERE | BiHE%
1H 5 0.20% 4.7 0 0 0 220.0 0
28 5 0.20% 3.7 (1.0) 1.1 -1.1 -05 218.4| -0.7
38 8.5 5 0.20% -15 6.8 3.1 1.1 34 -05 221.3 0.6
47 141 5 0.20% -41 124 5.6 1.1 6.2 -05 2254 2.5
5H 18.6 5 0.20% -6.2 17.5 5.1 1.1 5.6 -05 226.4 29
6 A 225 5 0.20% -7.8 21.6 4.1 1.1 4.5 -05 224.3 1.9
78 26.1 5 0.20% -9.3 249 3.3 1.1 3.6 -0.5 219.6] -0.2
8H 27.4 5 0.20% -95 275 2.6 1.1 29 -0.5 212.7] -3.3
9H 23.8 5 0.20% =715 25.7 (1.8) 1.1 -2.0 -05 200.6] -8.8
10H 17.6 5 0.20% -4.7 19.7 (6.0) 1.1 -6.6 -05 186.0| -155
118 11.8 5 0.20% -24 13.9 (5.8) 1.1 -6.4 -0.5 174.4| -20.7
12H 6.4 5 0.20% -0.5 7.8 (6.1) 1.1 -6.7 -05 164.9] —-25.1
1H 41 5 0.20% 0.0 4.7 3.1) 1.1 -3.4 -05 160.5| —-271
&F 155 -53.5 -24.3% 0 -6.0 -595
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AR BARNE

MERRNIIKERDECOEERDEZWNV-ERLEL

SH™h

15BOBEARBN=-5831°CTO. 20% Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
1H 41 0 020% 16| 1.7 1.8 19 20 21| 21| 22| 23] 24 25
2R 46 0 020% 18| 19| 20| 21| 22 23] 24 25 26 27| 28
3R 8.5 0 0.20%| 34| 36| 37 39| 41| 43| 44 46| 48| 49| 51
4K 14.1 0 020%| 56| 59/ 62 65 68 71| 73 76/ 79 82 85
5H 18.6 0 020%| 74| 78| 82 86| 89 93 97 100 104| 108| 112
6H 22.5 0 0.20%| 9.0 95 99 104 108 113 11.7| 122| 126| 13.1| 135
7R 26.1 0 0.20%| 104 110 115 120 125 13.1| 136| 14.1| 146| 151| 157
8H 27.4 0 0.20% 11.0] 11.5| 121 126| 132 13.7| 142 148| 153| 159| 164
9R 23.8 0 0.20%| 95| 100 105 109 114 119 124| 129| 133| 138| 143
108 17.6 0 020%| 70| 74| 77| 81| 84 88 92 95 99| 102| 106
118 11.8 0 0.20%| 47| 50 52 54 57 59 61| 64 66/ 68 7.1
128 6.4 0 020%| 26| 27| 28 29 31 32 33 35 36/ 37 38
F 155 -74.2| -77.9( -81.6| -85.3| -89.0[ -92.8| -96.5-100.2|-103.9|-107.6/-111.3

15BN BEARRBN-R;21°CTO. 20%T:tHE
BRRhEOEE=-5COIEE

AB | A¥Y |RORE
1H 3
2R 3
3R 8.5 5 0.20% 1.4 1.5 1.5 1.6 1.7 1.8 1.8 1.9 20 2.0 2.1
4H 14.1 5 0.20% 3.6 3.8 4.0 42 44 46 4.7 49 5.1 5.3 9.5
5H 18.6 5 0.20% 5.4 5.7 6.0 6.3 6.5 6.8 71 7.3 7.6 79 8.2
6H 22.5 5 0.20% 7.0 14 1.7 8.1 8.4 8.8 9.1 9.5 9.8 102 105
;) 26.1 5 0.20% 8.4 8.9 9.3 9.7 10.1| 10.6) 11.0[ 11.4| 11.8] 122 127
8H 274 5 0.20% 9.0 9.4 99 103 108 112 116 121 125 13.0f 134
9H 23.8 5 0.20% 1.5 1.9 8.3 8.6 9.0 9.4 9.8 102 105 109 113
10AH 17.6 5 0.20% 5.0 5.3 9.5 5.8 6.0 6.3 6.6 6.8 71 7.3 7.6
1A 11.8 5 0.20% 2.7 29 3.0 3.1 3.3 3.4 3.5 3.7 3.8 3.9 4.1
12H 6.4 5 0.20% 0.6 0.6 0.6 0.6 0.7 0.7 0.7 0.8 0.8 0.8 0.8
F 15.5 -50.7| -53.3| —55.8| -58.3| —60.9| -63.4| —65.9| —68.5| —71.0 -73.5| —76.1




SH™h

15BOBEARBN=-5;B31°CTO. 18%Tit&E
BARRNEOEE=0COFE

AB | AEY | ROEE |B5A%E2| 200 210/ 220 230| 240| 250 260| 270[ 280 290 300
1H 41 0 018%| 15| 15| 16| 1.7 18 18 19/ 20 21| 21| 22
2R 46 0 018% 1.7 171 18| 19 20 21| 22 22| 23| 24/ 25
3H 8.5 0 0.18%| 31| 32| 34 35 37 38 40| 41| 43| 44| 46
4K 14.1 0 0.18%| 51| 53| 56| 58 61| 63 66/ 69 71| 74 76
5H 18.6 0 0.18%| 6.7 70| 74| 77| 8ol 84 87 90/ 94 9.7 100
6H 22.5 0 0.18%| 81| 85 89 93 97/ 101| 105/ 109| 113 11.7] 122
7R 26.1 0 0.18%| 9.4 99 103 108 11.3[ 11.7| 122| 127| 132| 136| 141
8H 27.4 0 0.18% 99| 104| 109 11.3] 11.8| 123| 128 133| 13.8| 143 148
9R 23.8 0 0.18%| 86| 90| 94 99| 103 107 11.1| 11.6| 120 124] 129
108 17.6 0 0.18%| 63| 67 70[ 73 76/ 79 82 86/ 89 92| 95
118 11.8 0 0.18%| 42| 45| 47| 49| 51| 53 55 57 59 62| 64
128 6.4 0 0.18%| 23| 24| 25 26| 28 29/ 30/ 31| 32| 33 35
F 155 -66.8| -70.1| -73.5| -76.8| -80.1| -83.5| -86.8| -90.2| -93.5| -96.8|-100.2

15 AN BARN=-]E

BRARNEOERE=-5CDEHE

1°CTO. 22% CitE

AB | AT | RORE

18 5 0.22%

2R 5 0.22%

3R 5 022% 15| 16| 1.7 18 18 19/ 20 21| 22| 22| 23
4R 14.1 5 0.22%| 40| 42| 44| 46| 48 50 52 54 56/ 58 60
5H 18.6 5 022% 60| 63| 66| 69/ 72 75 78 81| 84 87 90
618 225 5 022% 77| 81| 85| 89 92[ 96/ 100/ 104| 108| 11.2| 116
78 26.1 5 0.22% 93| 9.7 102 107 11.1| 116 121| 125 130 135| 139
8H 27.4 5 0.22% 99| 103| 108 11.3| 11.8] 123 128 13.3| 138| 14.3| 148
9R 23.8 5 022% 83| 87 91 95 99 103 108 11.2| 116 120| 124
108 17.6 5 022%| 55| 58 61| 64/ 67/ 69 72 75 78 80 83
118 11.8 5 022% 30| 31| 33| 34 36| 37| 39| 40| 42| 43| 45
128 6.4 5 022% 06| 06/ 07 07/ 07/ 08/ 08 08 09 09 09
F 155 -55.8| -58.6| —61.4| —-64.2| —-67.0| -69.7| -72.5| -75.3 -78.1| -80.9| -83.7




